
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

5524.9 × 0.1 = ________ 1959.2 × 0.0001 = ________

6234.4 × 0.001 = ________ 1372.6 × 0.001 = ________

3398 × 0.0001 = ________ 2084.8 × 0.01 = ________

7266.5 × 0.1 = ________ 1810.3 × 0.0001 = ________

3161.9 × 0.1 = ________ 2810.9 × 0.0001 = ________

2235.3 × 0.0001 = ________ 9552.3 × 0.0001 = ________

6216 × 0.0001 = ________ 4230.4 × 0.001 = ________

6007.9 × 0.0001 = ________ 8547.8 × 0.001 = ________

7381 × 0.01 = ________ 4309.2 × 0.001 = ________

6072.2 × 0.001 = ________ 9843.6 × 0.01 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

5524.9 × 0.1 = 552.49 1959.2 × 0.0001 = 0.19592

6234.4 × 0.001 = 6.2344 1372.6 × 0.001 = 1.3726

3398 × 0.0001 = 0.3398 2084.8 × 0.01 = 20.848

7266.5 × 0.1 = 726.65 1810.3 × 0.0001 = 0.18103

3161.9 × 0.1 = 316.19 2810.9 × 0.0001 = 0.28109

2235.3 × 0.0001 = 0.22353 9552.3 × 0.0001 = 0.95523

6216 × 0.0001 = 0.6216 4230.4 × 0.001 = 4.2304

6007.9 × 0.0001 = 0.60079 8547.8 × 0.001 = 8.5478

7381 × 0.01 = 73.81 4309.2 × 0.001 = 4.3092

6072.2 × 0.001 = 6.0722 9843.6 × 0.01 = 98.436
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